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Name: Date:

Math 8 HW Section 10.1 Linear Relations

1. Given the following grid, find the coordinates of each of the following points
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2. Given each graph, fill in the table of values given: Ans R
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How much does it cost to buy 10 basketballs? How many people can each car take?
$ 7so S pe° D\e
If you had $100, how many basketballs can you buy? How many cars will you need for 85 people?
S
. Write an equation for the number of people and the
umber of cars required:

3. For the two graphs above, should we connect the dots? Explain why or why not.
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4. Given each scenario, indicate whether if it is a linear relationship or not. If not, explain why:
i) Tim saves 3.25 each day and puts it in his piggy bank. The relationship between the number of days and
‘ how much he saves.

Becouse when +he #H of days ><4(rea5e by 1, the money

N (rease A by 325 , it'S onStant 10 rade,
ii) The number of people in a school doubles every day for 12 straight weeks. The relationship between thi
number of people vs the number of weeks.

The number of re2ple Intre aSed every-— H(\ _q-_D—h
doy Vs et (onstant. 5 e >
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iii) The side length of a square and the perimeter of a square M C K zH
Cuerytime The Side lehgth in(rease by 1 y » (L‘, lb)M 27
the verimeter increase by 4 33

@ The side length of a cube and the volume of a cube

The # of Hnhe volume does not NCrEGSEIn A (onstant Fate
5. Jason owns a JappaDog stand and sells hotdogs at $3.50 each. Make a TOV for the first twenty hotdogs that
he sells. Use the graph to illustrate his revenue. Label the graph.
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6. A taxidriver charge ST. e first minute and then $.80 for each additional km he travels. Make a TOV
for the first 10km and then d;ew a graph to illustrate the relationship.
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HW Section 10.2 Finding Patterns in a Table of Values

1. The perimeter of a square is equal to the side length multiplied by 4. Complete the following table of values:

Perimeter(cm) | | [ 20 2¢ ] 84
Side Length | 4 | 65| 21 | 2]

2. The following table is for the relationship between the side length of a hexagon and its perimeter. Complete
the TOV:

Perimeter(cm) | \2 | 42 |=30| 72
Side Length 3 T 15112

3. Given that the relationship is supposed to be linear, which row does not belong in the table of values? Which

value would you change to make it into a linear relationship?

x|y x|y x |y x|y X
203 15 3] 6 202 7|
46 209 0 | ¥ s 4]
4]6 2] o[> SISy 4]
69 3013 3 (10 9 (@ I
812 4(17 6 |12 1335 5|6

4. Given each table of values, find the equation that relates the two variables and then find the values for the
missing boxes:
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5. Given the figures below, derive a formula for the numbers of small little squares (S) vs the figure number (N)

Figure 1 Figure 2 Figure 3

a) Derive a formula for the total number of possible squares (T) vs the figure number (N)?

TN+

b) Make a table of values and then graph it. Is this a linear relationship?
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6. Challenge: Suppose you connect the dots next to each other and count the number of little triangles. Make a
table of values for the number of dots and the number of little triangles. Is this relationship linear?
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HW Section 10.3 Graphing Linear Equations

1. Graph each of the following equations by making a table of values.

a) y=3x b) y=3x+l c)]y=3x+2l
xlo|1]2]3]4 x| o1 3] 4 x[o] 1 [/2)[3]4
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the space given:
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a) y=§x i)x=6
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b) y=3x+5 i) x=4
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2. Given the following equation, e»’guate the value of “y” when given the value of “x”.

<
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24

Show all your work with

i) x=24
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3. Given the following equation, indicate which points will not be on the line y =3x—4. Show all your work

and steps: B(O,—4), C(

o3> -4

—o=—\J

%,_z), D(5,-11), E(20,54) S1=3 (o) - ¢

A 1O S B ()¢ NE3LEY swqoeo ot

% =-4
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2= 2y = SeXsL

-1:-2

4. The following graph shows how much Zack earns from commission for the number of cars he sells in a month.
Use the graph below to answer the following questions:

ooy
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#of carssold

a) How much does Zack earn if he sold 4 cars?

b) If he earned $7000 in commission, how many cars did he sell?

Dl Solde T cors

c¢) How much commission will he earn if he did not sell any cars?

fﬁg v sells 0 cers

d) Give an equation that relates the number of cars (N) sold with the commission earned (C)

C = 000w

e) Should we connect the dots in the graph? Explain why or why not
To becansce H+Heot s n~o valne T betwan dle o sts

5. Neil is jogging around his neighbourhood at a constant speed and his distance away from home is given by

4
the formula: D = El +20. “D” is the distance in meters and “t” is the time in seconds. Make a table of

values and then graph it. D= %: X 1te ¥ Lo = %,?_ + L0
D/stance Vs, Tune K ﬁ/ 3
i /
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S 20 L'_(jz . 3
29 — D = 2 x 60+ro T 290
(o 40 7%{ 3 2 T A4 0
79 60 | 00 D= °_l3 x $64+ Lo =z 7.0
4 = —_— 4
5 80 |26 C ST
& 3 =4 o 4+
C =2 X Io o =
0| 2o koo g 100 100]i53 3 3 “00 4o
Taone (secsnds) 3
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